Model system will help is inderstand important concepts & which can be solved



Wan't to know when/whether this tonsition Should occur. A bit to complicated approximete makel to solve, so make an (ulso, fully classical) "Real" Hamiltonian propling matrix h= 8th B Z Si= 1/2 di e Pauli metria Cansider only 7 direction & field in 2 direction $H = -\frac{1}{2} \sum_{ij} J_{ij} \sigma_i \sigma_j - \frac{1}{2} h \sigma_i$ の, 二名二 次了 Make Short myed, so only if sit i &j redefine regulless of 2, mitby 2 Jij = ZJ ijneigh 0 other $H = -J \leq S; S_i - \geq hS;$ S;= \$±13 $\langle \cdot \rangle >$ 22 - arsager 1944 (Lonz > Isin, 1924) h>0, like to be "up" If J>0, like to align.

w)
$$h = 0$$
, min ε when all aligned up or down
Consider can fig $\langle \gamma \gamma \gamma \gamma \cdots \gamma \gamma \gamma \gamma \rightarrow m = 1$
or $UU \cdots UU = m = 1$
 $\varepsilon \approx -NJ$ (bandoy effects)
 $= \varepsilon \min$

Although 1d istry model doesn't have Spantoneous magatichin, may problems file adamphan, protin folding can be madered to it and so we need to understand it toes Need Z(N,V,T) to get free every 8 12 Properties N=-ZJSiSiH - ZhSi, con make mole izi symetrical, con also Suy SiNH = Si $\mathcal{H} = -\mathcal{J} \stackrel{N}{\geq} S_{i}S_{i+1} - \frac{h}{2} \stackrel{N}{\stackrel{N}{\geq}} (S_{i} + S_{i+1})$ $= \sum_{n}^{\infty} \left(-2S^{2}_{i}S^{1+1}_{i+1} - \frac{1}{p}(S^{1}_{i} + S^{1+1}_{i+1}) \right)$ $Z = \sum_{stakes} -\beta \mathcal{E}(stake) = \sum_{s_1, s_2} \sum_{s_2, s_3} \sum_{s_4} \sum_{s_1, s_2, s_4} \sum_{s_4, s_4} \sum_{s_1, s_2, s_4} \sum_{s_4, s_4} \sum_{s_1, s_2, s_4} \sum_{s_4, s_4} \sum_{s_4, s_4} \sum_{s_4, s_4} \sum_{s_4, s_4} \sum_{s_4, s_4} \sum_{s_4, s_4, s_4, s_4} \sum_{s_4, s_4, s_4} \sum_{s_4, s_4, s_4, s_4} \sum_{s_4, s_4, s_4} \sum_{s_$ for B=0, independent and $Z=(Ze^{BhSi})^N$ $= \left(e^{-\beta h} + e^{\beta h} \right)^{N}$ $\propto \left(1 + e^{2\beta h} \right)^{N}$ like many problems me did before

For
$$h=0$$

 $Z = \sum_{s_1, s_2, s_3, \ldots, s_N} e^{\beta J S_1 S_2} e^{\beta J S_2 S_3} \dots e^{\beta J S_N S_1}$
Let $\widetilde{S}_i = S_i S_{i+1}$, can may be ± 1 , but Zways
If first spin vp, we know rest, or down
 $S_0 = 2 \sum_{s_1, s_2, \ldots, s_N} e^{\beta J S_1} e^{\beta J S_2} e^{\beta J S_3} \dots e^{\beta J S_N}$
 $= 2 \sum_{s_1, s_2, \ldots, s_N} e^{\beta J S_1} e^{\beta J S_2} e^{\beta J S_2} \dots e^{\beta J S_N}$
 $= 2 \sum_{s_1, s_2, \ldots, s_N} e^{\beta J S_1} e^{\beta J S_2} e^{\beta J S_2} e^{\beta J S_1} e^{\beta J S_2} e^{\beta J S_1} e^{\beta J S_2} e^{\beta J S_2}$

To calculute this at
$$h=0$$
, need to compute
 M for finit h and then take $h=0$
To do this, need a new technique called
transfor metrices
Penninder $A = \begin{pmatrix} q_1 & q_2 \\ a_3 & a_4 \end{pmatrix} B = \begin{pmatrix} b_1 & b_2 \\ b_3 & b_4 \end{pmatrix}$
 $AB = \begin{pmatrix} \alpha_1 b_1 + \alpha_2 b_3 & \alpha_1 b_2 + \alpha_2 b_4 \\ \alpha_3 b_1 + \alpha_4 b_3 & \alpha_3 b_1 + \alpha_4 b_4 \end{pmatrix}$
Define $P_{5,5'}$ as the metrix W entries
 $e^{55S' + \beta h} (S+S')/2$
Then evelocity for $4 \text{ cases} = \frac{1}{1} \frac{1}{-1}$
 $P = \begin{pmatrix} e^{\beta(3Hh)} & -B^{3} \\ e^{-\beta 5} & e^{\beta(5-h)} \end{pmatrix}$
Remember $e^{\beta(5(hh)} -B^{3} + B^{3})$
 $Z = \sum_{s=3}^{2} e^{\beta(s(s+n)) +\beta W_{s}(srsin)}$ sum ower all possible
corn binethas

and a gaussing to QM bre-bet, white

$$|I| = (0) |I| = ($$

$$\lambda_{\pm} = e^{\beta J} \cosh(\beta h) \pm \int e^{2\beta J} (1 + \sin^{2}(\beta h)) - e^{2\beta J} e^{2\beta J} = e^{\beta J} e^{2\beta J} (1 + \sin^{2}(\beta h)) - e^{-2\beta J} = e^{\beta J} (1 + \sin^{2}(\beta h)) + \int e^{2\beta J} (1 + \sin^{2}(\beta h)) - e^{-2\beta J} = e^{\beta J} (1 + \sin^{2}(\beta h)) + \int e^{-\beta J} (1 + \sin^{2}(\beta h)) - e^{-2\beta J} = e^{\beta J} (1 + \sin^{2}(\beta h)) + e^{-\beta J} = e^{\beta J} (1 + \sin^{2}(\beta h)) + e^{-\beta J} = e^{\beta J} (1 + \sin^{2}(\beta h)) + e^{-\beta J} = e^{\beta J} (1 + \sin^{2}(\beta h)) + e^{\beta J} = e^{\beta J} (1 + \sin^{2}(\beta h)) + e^{\beta J} = e^{\beta$$



$$= Jm^{2}Nz - mJ \overline{Z}(S; +S_{j}) - h\overline{Z}S;$$

$$= Jm^{2}Nz - (h+2mJz)\overline{Z}S;$$

$$Z = \overline{Z}\overline{Z} ... \overline{Z} e^{\beta L} JJ ; -i$$

$$= e^{-\beta Jm^{2}NZ} \cdot \left[\overline{Z} e^{\beta(h+2mJz)} \right]^{N}$$

$$= e^{-\beta Jm^{2}NZ} \cdot \left[\overline{Z} cosh(\beta(h+2mJz)) \right]^{N}$$



